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Participants Name:

Test Center Name:

Test Date: 23/01/2019

Test Time: 8:30 AM - 11:00 AM

Subject: IPart A and Exam Trade : Electronics Mechanic

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q.1 If A S B means A is the husband of B, A # B means A is the brother of B and A * B means A is the mother of B, then
what does P S Q * R # S mean?

Ans X 1. P is the brother of S
< 2. Pisthe sonof S
#< 3. P is the brother-in-law of S
« 4 P is the father of S

Question ID : 54335318253
Option 11D : 54335373269
Option 2 ID : 54335373268
Option 3 ID : 54335373270
Option 4 ID : 54335373271
Status : Marked For Review
Chosen Option: 1

. 1nd the power (1 of a pump if it can li tonne of water by m in 30 minutes. ( sume %o efficiency and use
2 Find the | i f a pump if it can lift 1 f by 90 m in 30 mi Assume 100% efficiency and

g=10 m/'s?)

Ans K1 2350
< 250
W 3. 500
X 4 25

Question ID : 54335318180
Option 1 ID : 54335372977
Option 2 ID : 54335372976
Option 31D : 54335372979
Option 4 ID : 54335372978
Status : Marked For Review
Chosen Option : 2

Q.3 The National Skills Development Corporation (NSDC) is a public-private partnership formed under India’s

Ans X 1. Ministry of Corporate Affairs
/< 2. Ministry of Electronics & Information Technology



Shiv
Highlight


< 3. Ministry of Science & Technology
+ 4 Ministry of Finance

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318172
54335372947
54335372945
54335372946
54335372944
Marked For Review
3

%* Find mass of an iron cube of side 2 cm. (Density of iron is 7.8 gmz’-::m3)

Ans 1. 3.9 gm
<2 0975 gm
W3 62.4gm
X 4 15.6 gm

Q.5 One statement is given, followed by two assumptions,
seems to be at variance from commonly known facts
be drawn from the given statement.

Statement: "You are appointed as a trainee accountant on
be converted to permanent on submission of pass result of ) ment letter.
Assumptions:
L M Com final exam is a reasonable proof of an accountant's ¢

II. All trainees are appointed on temporary basis.

Ans 3 1. Both I and IT are implicit 66

#< 2. Neither I nor II is implicit
« 3. Only assumption I is implicit
7 4 Only assumption II is implicit

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318263
54335373311
54335373310
54335373308
54335373309
Marked For Review
1

Q.6 In a steady-flowing river, a boat goes a certain distance upstream at a speed of 12 kim'h and comes back the same
distance at 24 ki'h. Find the average speed for the total journey.

Ans  of 1. 16 km/h
X 2 15 kmh
X3 20 kmh
X 4 18 km/h

Question ID :

54335318232




X 2 gfaeT
v o XReETT
X o T

Option 11D : 54335373184
Option 2 ID : 54335373187
Option 3 ID : 54335373186
Option 4 ID : 54335373185
Status : Marked For Review
Chosen Option : 3
Q.7 7z Fufy ¥ 57 o7 O 50w & wEaw agiadt ¥ 3T ¥ W v o § A e
T o o T @) 7 &
Ans X 1 ﬂ% 3

: 54335318192

Q.8 Find the efficiency of a pulley system which has a mechanical advantage of 2.5 an
on pulling the rope by 10 m.

Ans  of 1 62.50%
X 2. 100.00%
X3 25.00%
X 440.00%

Question ID : 54335318207
Option 11D : 54335373087
Option 2 ID : 54335373084
Option 31D : 54335373085
Option 4 ID : 54335373086
Status : Marked For Review
Chosen Option : 3
Q.9 The bar graph shows all the ingredients (in grams) required to make two types of salads, X and Y. If Ingredient B of
Salad X is reduced by 100 grams and Ingredient E of salad Y is increased by 25% then salad Y would be lighter than
salad Xby .
g o 400 400
2 1 l 200 200 i 200 1
s o8 e o 38 v
Ans X1, 22.50%
v 2 20%
< 3. 37.50%
X 4 25%
Question ID : 54335318265
Option 11D : 54335373319
Option 2 ID : 54335373318
Option 3 ID : 54335373317
Option 4 ID : 54335373316




Status : Marked For Review
Chosen Option : 2

Q.1 If the speed of a car increases from 54 km/hr to 90 kiv/hr, its kinetic energy would increase in the ratio .
0

Ans X 1. 0/16
2 925
<3 4/9
&< 4 3/5

Question ID : 54335318199
Option 11D : 54335373054
Option 2 ID : 54335373055
Option 3 ID : 54335373053
Option 4 ID : 54335373052
Status : Marked For Review
12

01-1 Which of the following recipients of the Dadasaheb Phalke Award received it p

Ans o 1. Vinod Khanna
< 2. Naushad
#< 3. Durga Khote

#< 4 Satyajit Ray

Y ) 54335318173
. 54335372950
tion 2 ID : 54335372948

o Option 3 ID : 54335372949

Option 4 ID : 54335372951
Status : Marked For Review
Chosen Option : 1

@7 The Umaid Bhawan Palace is in which ci

Ans  of 1. Jodhpur
< 2. Udaipur
< 3 Bikaner
< 4 Jaipur

Question ID : 54335318177
Option 1 ID : 54335372967
Option 2 ID : 54335372964
Option 3 ID : 54335372966
Option 4 ID : 54335372965
Status : Marked For Review
Chosen Option : 4

U If3A=6B=7C; findA:B:C.
Ans X1 7:12:6
X212:7:3
K3 7:3:12
v4i14:7:6

[ Question ID : 54335318226 ]



Option 11D : 54335373160
Option 2 ID : 54335373163
Option 3 ID : 54335373162
Option 4 ID : 54335373161
Status : Marked For Review
Chosen Option : 3

Q.1 The Living Planet Report, released every two years, is the flagship publication of which organisation?
4

Ans 1. Conservation International
' 2. World Wide Fund for Nature
#< 3. The Nature Conservancy

#< 4 Wildlife Conservation Society

Question ID : 54335318171
: 54335372943

051 To is to prepare a storage medium, usually a disk

Ans 1. map
& 2 boot
' 3. format
7< 4 defrag

Question ID : 54335318219
Option 11D : 54335373134
Option 2 ID : 54335373132
Option 3 ID : 54335373135
Option 4 ID : 54335373133

Status : Answered
Chosen Option : 3

Q.1 A alone can do a task in 35 days and B alone in 14 days. If they work on it together for 5 days, then what fraction of the

6 taskis lefi?

Ans X 1. Three fourths
' 2 Half
/< 3. Quarter
#< 4 One-thirds

Question ID : 54335318230
Option 11D : 54335373177
Option 2 ID : 54335373179
Option 3D : 54335373176
Option 4 ID : 54335373178
Status : Marked For Review
Chosen Option : 2

Q.1 Pipe A can fill a tank in 6 hours. Pipe B can empty it in 15 hours. If both the pipes are opened together, then the tank
7 will be filled in how many hours?

Ans ‘x1_ 0
X212




V'3 10
X4 8

Question ID : 54335318244
Option 11D : 54335373233
Option 2 ID : 54335373235
Option 31D : 54335373234
Option 4 ID : 54335373232
Status : Marked For Review
Chosen Option : 2

Q.1 Two resistors of R Q and 60 Q are connected in parallel to get an effective resistance of 24 Q. Find R.
8

Ans X1~ 48
X2 56
'3 40
X 4 64

Q1 e #, 37 X B=r & 37 F S w FgEE 5
9 e 2 T gEe R f 5w owr O

Ans X116
X210
V'3 14
X412

Question ID : 54335318242
Option 11D : 54335373225
Option 2 ID : 54335373226
Option 3 ID : 54335373224
Option 4 ID : 54335373227

Status : Marked For Review
Chosen Option : 3

_— e

Q.2 The sentences given in the question, which. when properly sequenced. form a coherent paragraph. Each sentence is
0 labelled with a letter. Choose the most logical order of sentences from among the given choices to construct a coherent
paragraph.

Outside their window there was a vine with attractive foliage, but it started shedding leaves one by one as summer
passed through fall into winter.

A - Came dawn, when Johnsy looked out of the window from her sick bed, lo and behold, the leaf was still there and it
continued to be there on the following days.

B - Finally, only one last leaf remained. Johnsy told Sue that when that leaf fell, her life would also go.

C - The girl regained her will to live and was fully recovered in a few days.

D - A concerned elderly artist friend of the girls, hearing this story, climbed outside the window in the bitterly cold night
and painted a life-like leaf at the spot from where the last leaf had just fallen.

Ans o 1. BDAC
X 2. DBAC
& 3. DBCA
& 4 BDCA

[ Question ID : 54335318267 ]




Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335373324
54335373326
54335373327
54335373325
Marked For Review
1

01-2 Green and vellow vegetables in our diet mostly provide us which element as food?

Ans X 1. Copper

< 2. Sodium
' 2 Potassium
< 4 Zine
Question ID
ID

Q.2 Find the specific latent heat of vaporisation of 1.25 g of nitrogen (in Jg‘l), ifi
condenses at its boiling point of 196° C.

Ans X1, 312.5
X 2 469
'3 200
& 4 500

: 54335318216
: 54335373120
: 54335373123

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

: 54335318182

: 54335372984

: 54335372986

: 54335372987

: 54335372985

: Marked For Review
1

Qéz When a number is increased by 36. it becomes 109% of itself. What is the number?

Ans of 1. 400
& 2300
<3450
& 4 360

Question ID

Option 11D

Option 2 ID

Option 31D

Option 4 ID

Status

Chosen Option :

: 54335318227
: 54335373166
: 54335373165
: 54335373167
: 54335373164
: Answered

1

@2 A bullet travels 90 m in 0.2 seconds. Find its speed in km/hr.
Ans  of 1. 1,620

2 1.250

X3 125




X 4162

Question ID : 54335318213
Option 11D : 54335373110
Option 2 ID : 54335373111
Option 3 ID : 54335373108
Option 4 ID : 54335373109
Status : Answered
Chosen Option : 3

@2 Which of the following is NOT a base unit?

Ans (1. candela
' 2 radian
2< 3. ampere
< 4 mole

Q.2 Two cars, X and Y, travel from A to B at average speeds of 50 k|
6 than Y for the journey, then the distance between A and B in

Ans X1 400

X 2. 600
< 3800
' 4 300
Question ID : 54335318200
Option 11D : 54335373056
Option 2 ID : 54335373057
Option 3D : 54335373059
Option 4 1D : 54335373058
Status : Marked For Review
Chosen Option : 1
— P - - 4
Q.2 Ifashopkeeper sells an item at T 2,700, he makes 8% profit. If he sells the item at ¥ 3,000 what will be the percentage
7 of profit?
Ans x 1. 25
<210
'3 20
X412

Question ID : 54335318234
Option 11D : 54335373193
Option 2 ID : 54335373194
Option 3 ID : 54335373195
Option 4 ID : 54335373192
Status : Answered
Chosen Option : 3

Q.2 In the following question, which set of letters and numbers, when sequentially placed at the gaps in the given series,
8  shall complete it?
1 2x bb yy cc 6zzz




Ans 1. 3a45b
X 2. 3a45¢
X 3. 3a4bs
W 4 a3d5c

Question ID : 54335318247
Option 11D : 54335373245
Option 2 ID : 54335373244
Option 3 ID : 54335373246
Option 4 ID : 54335373247
Status : Answered
Chosen Option : 4

Qéz The resistance of a metal rod depends on all of the following, EXCEPT

Ans %1 length
2. density
< 3. resistivity
< 4. temperature

: 54335373068
: Answered
14

063 The author of 'The Monk Who

Ans o 1. Robin Sharma
#< 2. Manohar Malgonkar

< 3. Arundhati Roy
< 4 Arvind Adiga

Question ID : 54335318175
Option 11D : 54335372959
Option 2 ID : 54335372956
Option 3 ID : 54335372957
Option 4 ID : 54335372958
Status : Marked For Review
Chosen Option : 2

Q.3 A and B start to walk from point P towards point Q. The distance between P and Q is 9 km. B starts 4 minutes after A.
1 A onreaching Q, immediately returns and after walking a kilometre meets B. If A's speed is a kilometre in 10 minutes,
what is B's speed in kilometres per minute?

Ans X1 1/6
v 12
<3 1/8
X4 1/15

Question ID : 54335318209
Option 11D : 54335373094
Option 2 ID : 54335373092
Option 31D : 54335373093




Option 4 1D : 54335373095
Status : Marked For Review
Chosen Option : 3

Q.3 Select the option that is related to the third word on the same basis as the second word is related to the first word.
2 poem: Stanza :: Book : 7

Ans X 1. Story
X 2. Language
< 3. Printing
« 4 Page

Question ID : 54335318246
Option 11D : 54335373240
Option 2 ID : 54335373243

ion 3 ID : 54335373241
: 54335373242
arked For Review

Qé3 A said to B, "You are my husband's daughter-in-law's son." How is B rela

Ans X" 1. B is the brother of A
#< 2. Bisthe sonof A
+ 3 B is the grandson of A

#< 4 B is the father of A

: 54335318254

: 54335373275

Option 2 ID : 54335373273

Option 3 ID : 54335373272

Option 4 ID : 54335373274
Status : Marked For Review

Chosen Option : 4

@3 Choose the figure which is different fro
Ans 7 C

r

H

11
r

Question ID : 54335318259
Option 11D : 54335373293
Option 2 ID : 54335373294
Option 31D : 54335373292
Option 4 ID : 54335373295




Status : Answered
Chosen Option : 2

Q.3 If the amount received at the end of 1st and 2nd year at compound interest on a certain principal is ¥ 1.350 and Z 1,458
5 respectively, what is the rate of interest?

Ans 11. 204
X2 15%
X3 12%
&< 4 10%

Question ID : 54335318233
Option 11D : 54335373190
Option 2 ID : 54335373191
Option 3D : 54335373189
Option 4 ID : 54335373188
: Marked For Review
A 3

Q.3 Find the length (in cm) of the edge of a cube of a piece of wood which weighs 80 N. (Use g =10 m's
=1 g/cm3)

Ans X 1. 40
&< 2 80
X3 60
W20

: 54335318198

: 54335373048

: 54335373051

Option 3 ID : 54335373050

Option 4 ID : 54335373049
Status : Marked For Review

Chosen Option : 3

Q.3 Ina certain code DIRTY is coded as 24759 and FOAM is coded a
7

Ans of 1. 6742
X2 1579
< 3 2489
&< 4 9165

ARID will be coded as

Question ID : 54335318249
Option 11D : 54335373254
Option 2 ID : 54335373255
Option 3 ID : 54335373253
Option 4 ID : 54335373252
Status : Answered
Chosen Option : 1

Q.3 An executive earns a salary of 12,600 every month, and he spends 5/7 of it. If his salary increases by 1/3rd and his
8 spending increases by 1/5th of the present expenditure, what fraction of his salary will he save?

Ans X 1. 8/15
&< 2 7/15
<3 716
V4514

Question ID : 54335318224




Option 11D : 54335373154
Option 2 ID : 54335373153
Option 3 ID : 54335373155
Option 4 ID : 54335373152
Status : Marked For Review
Chosen Option : 2

Q.3 3 z=w F1 F== 4, 7 AT 10 Frerm & 59 & P9 awE F B o wuew = freea # o
9 == 7 @ T

Ans of 1. 18
<221
<317
X414

Question ID : 54335318268
: 54335373329

Q.4 Which of the following gases is a highly poisonous, odourless,
0

Ans X 1. Nitrogen dioxide
+ 2. Carbon monoxide

7< 3. Carbon dioxide
#< 4 Methane

Question ID : 54335318217
Option 11D : 54335373126
Option 2 ID : 54335373127
Option 31D : 54335373124
Option 4 ID : 54335373125

Status : Marked For Review
Chosen Option : 3

%4 Find the value of 5 Sin© — 2 CosecO, if © = 30",
Ans 1. _2f3

2 32

X332

X423

Question ID : 54335318239
Option 11D : 54335373213
Option 2 ID : 54335373215
Option 3D : 54335373212
Option 4 ID : 54335373214
Status : Answered
Chosen Option : 2

°é4::|ﬁ;10,4, 1, 15, 15, x, 12 3k 14 =7 @7 10 ¥ & x 71 @7 79 FST

ans X110
<28




X3 7
Vg

Question ID : 54335318240
Option 11D : 54335373217
Option 2 ID : 54335373216
Option 31D : 54335373218
Option 4 ID : 54335373219
Status : Answered
Chosen Option : 4

U faET & ¥ Fi9 o vuE vk F Ao # 3T 87
e X1 mtar (A F)

X 2 g% 33 Fr "fFESE (32w 2

X 3 v afge @ e (@ 5)

v o Fi

— —— —

Question ID : 54335318215
Option 1 ID : 54335373118

&7

4 quits. How many days A and C working together will take to complete the remainder of the task?

Option 2 1D :
Option 31D ;
Option 41D

54335373119
54335373116
54335373117

Status : Answered
Chosen Option : 4

Q.4 IfA, B andC can do a task working alone in 12, 18 and 36 days respectively. They all work tagether for 2 days, then B

Ans X' 1. 3
X2 4
X309
V6
Question ID : 54335318231
Option 11D : 54335373183
Option 2 ID : 54335373181
Option 3D : 54335373180
Option 4 ID : 54335373182
Status : Marked For Review
Chosen Option : 3
% e wfy A #r
5 @R
e X Tre 9fa wIfEEE
7< 2. 9IErEgar
v 5 Teegaeierar
?{. N ﬁ 7
Question ID : 54335318196
Option 11D : 54335373043
Option 2 ID : 54335373042
Option 3 ID : 54335373041
Option 4 ID : 54335373040
Status : Marked For Review




l Chosen Option : 4

@t 8 JAr speat AT FEAE P & awwa (FE2 F) Fr eem
Ane X183
<2 3243

X 3 6443
v 4 1643

Question ID : 54335318228
Option 11D : 54335373168
Option 2 ID : 54335373170
Option 3 ID : 54335373171
Option 4 ID : 54335373169
: Answered

Q.4 g2 &, g Fuw fow ow § 5ES a1 o Trewy | 3 1 Ry arw §) e st @ 5w A
7

FUF ¢ FT M s ¥

FUT 2 G TEr Femedr

forespy |: mefr g Sareer #

foresd 1I: o Semmr Srewmdr §

XL aar @R T a e Ee
V2 Fae ey || Fe] g g
X 3. Fae oy | aﬁ]\aﬁr%

X 3R Il @ e A §

Question ID : 54335318257
Option 11D : 54335373287
Option 2 ID : 54335373285
Option 3 ID : 54335373284
Option 4 ID : 54335373286
Status : Answered
Chosen Option : 3

Q.4 we zmerdt 60 @ HATST T 400 T AT A &7 W @ieaT § Al 9w 8% @t W 18 S duar &
8 o3 60 A W T 16.4% T FAW & fAv O A FE FEF | T TR

Ans X1 % 520
<2 % 540
<3 % 500




v 4 % 480

Question ID : 54335318235
Option 11D : 54335373197
Option 2 ID : 54335373198
Option 31D : 54335373196
Option 4 ID : 54335373199
Status : Marked For Review
Chosen Option : 2

04 20-2[25% of (15 x 8+ 6+ 12)] =

Ans (1_ 4
X 28
X< 3 10
X4 6

Q.5 35 fFeT & 997 &L S 997 UeE ¥ 3T ¥R w@Eta
0 ux: Rrwmw - @ ?

s X1 gl
2 7O
X 3 gedr
< 4 OER

Question ID : 54335318245
Option 11D : 54335373237
Option 2 ID : 54335373236
Option 3 ID : 54335373238
Option 4 ID : 54335373239
Status : Answered
Chosen Option : 1

Q.5 weF #, & Fuw By =1w &, g g &= w1, 1 s 0 R aw F v sTrE B 5w A L 8
1

Fua ¢ T =E dmT E

FUF 2 FO 5 TH §

e |: T e e d £

ey 11wl d9T waw REa

ey 1l F g e 3 a8 E




X forsms 1, 11 3R I @edr S g
X 2 Faer faswy 11l |y gem
X s ae fasw | AR 1 A gem
v o Faa ey | @y gem

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318258
54335373291
54335373289
54335373290
54335373288
Answered

1

Q.5 TraRfEa st #, R sEaast s s war §, 99 St w1 s wxten
2 gt o Rt awar ¥ e s Trar s sfatee s ¥ et e w w ae
T FATA ST FIaT § ST A7 &7 HeET a7 fmr 87

°

Ans o 1 CEF ¢ ‘ .
X2 G \
X3 E
X 4 IGH
Question ID : 54335318255
Option 11D : 54335373279
Option 2 ID : 54335373278
Option 3 ID : 54335373276
Option 4 ID : 54335373277
Status : Marked For Review
Chosen Option : 4
Q:;’S —100° Celsius=__ Fahrenheit
Ans of 1 _148°
X2 173¢
X3 _373°
X4 2120

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318214
54335373112
54335373114
54335373115
54335373113
Answered

4

4
Ans X1 125

Q.5 Find the potential difference (in V) across a resistance of 2.5 kO through which a 2 mA current flows.




w25

X -Fe7aeT § T 3@l aeae & Sfeen(e9sr acoen) &< o g, ofee
Y - ¥ IS ¥ § 9 A¢T AT g9, TF
Z - w3 s 9§ HgIged 8

<308
<402
Question ID : 54335318206
Option 11D : 54335373080
Option 2 ID : 54335373083
Option 3 ID : 54335373081
Option 4 ID : 54335373082
Status : Not Answered
Chosen Option : --
° T F TS F W FA H AT F
FROT F T H &F v TS

X 1. XZY
v 2 YXZ
X 3 ZXY
X4 ZYX

Question ID : 54335318266

Option 1 ID : 54335373322

Option 2 1D : 54335373323

Option 3 ID : 54335373320

Option 4 ID : 54335373321

Status : Answered
Chosen Option: 2
Qé5 Find the co-ordinates of the midpoint of the segment joining the points (—4,7) and (2,3).

x 1. { 11_5)
x 2. {_:—}':3)
“ 3. [_I-:S)

Question ID : 54335318238

Option 11D : 54335373211

Option 2 ID : 54335373209

Option 3 ID : 54335373210

Option 4 ID : 54335373208

Status : Not Answered

Chosen Option : --

Q.5 TF T TG we ¥ BT 7 ¥ w5 a9 T T gater T e §) 9% ¥ o Haw
7 ﬁgﬁ#mmmmhmﬁg Fr T F1 HFE Fr g =g § 3= dww, e
fag (F5e di5zw) a1 Aiw e S R
VAR o
X 2. T
< s geeraE

X 4 FTET




Question ID : 54335318193
Option 11D : 54335373031
Option 2 ID : 54335373030
Option 3 ID : 54335373029
Option 4 ID : 54335373028
Status : Not Answered
Chosen Option : --
Q.5 i
s 506 3T 782 FTr AgaH TATASF 410
ans X 1. 34
X< 2 29
V'3 46
X4 22
Question.|D : 54335318225
Option 1 ID : 54335373158
Option 2 ID : 54335373159
Option 3 ID : 54335373157
Option 4 ID : 54335373156
Status : Answered
l Chosen Option : 3
Q.5 vafireme @, Fo wufEE Rftear seE (FR-vs diFw) # Fieg g 81§ ganet & o
9 = =fg?
Ans L z
K 37T vE @ H o T #H 51 & e
X 2 Iod F U5 FTAS H HAeg i & ow
Vs
TS 1 (§ BrR) 3T 3777 Tt & @il B 5 70 & o
X 4 HEIAT ¥ TEd I & feg
[_ Question ID : 54335318211
Option 1 ID : 54335373103
Option 2 ID : 54335373100
Option 3 ID : 54335373101
Option 4 ID : 54335373102
Status : Not Answered
Chosen Option : --
066 Choose the letters which are different from the rest.
Ans X 1. UWY
< 2. PRT
V3 VIR
< 4 HIL
Question ID : 54335318260
Option 1 ID : 54335373298
Option 2 ID : 54335373297
Option 3 ID : 54335373299
Option 4 ID : 54335373296
Status : Answered
Chosen Option : 3
Q.6 F9, 1 Fr drear o 7 The gadt SR # 50 YR H R@eEe gae e F B e

1 wd 7 @98 & 79 33 §U, SW-IE st # wie @ ¥




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318194
54335373033
54335373034
54335373032
54335373035
Answered

3

% £ VX +0.24 = 0.1296, then find X.

Ans X 1. 1.44
v 2 0.0144
X3 012
& 40.0012

Q.6 :
. The sum of two binary number

Ans X 1. 100000110
2 2 11110000
2 3100011100
' 4 11010100

: 54335373222
: Answered
12

Question ID : 54335318221
Option 11D : 54335373142
Option 2 ID : 54335373141

Option 31D : 54335373143
Option 4 ID : 54335373140
Status : Answered
Chosen Option : 1
046 is the physiological adjustment by an organism to environmental change.
Ans  of 1. Acclimation
#< 2. Bioaccumulation
#< 3. Bioremediation
#< 4. Cogeneration
Question ID : 54335318218
Option 11D : 54335373131
Option 2 ID : 54335373128
Option 31D : 54335373129
Option 4 ID : 54335373130
Status : Not Answered




l Chosen Option : -- J

Q.6 v RyETEEE @ (SRR W) & Y 9T disg @1 $ A e w4 3 1 mm =tEr @
5

Ans of 1.3 mm
<215 mm
X3 1 mm
&4 5 mm

Question ID : 54335318184
Option 11D : 54335372994
Option 2 1D : 54335372992
Option 3 ID : 54335372993
Option 4 ID : 54335372995

Status : Not Answered

Q.6 What is the relative density of a solid of mass 50 gm which when fully immersed in wat
6

Ans X1_ 3
X225
3 1.25
X408

154335318208
: 54335373089
: 54335373091
: 54335373088
Option 4 ID : 54335373090

Status : Not Answered
Chosen Option : --

Q.6 Which of the following is the correct relation between resistance area of cross section

7 A’ of a metal wire?

Ans X 1. RA=Lo

X2 RL=Ac
'3 RoA=L
K 4 c=RL/A
Question ID : 54335318183
Option 11D : 54335372989
Option 2 ID : 54335372991
Option 31D : 54335372988
Option 4 ID : 54335372990
Status : Not Answered
Chosen Option : --
e

Q.6 The given Venn diagram shows the number of students who have passed in the three exams, viz. English, Science and
8  Maths. How many students failed in all the three exams?

English sence | U=60

/2
&)

Ans ?(1, 12
23




<309
K46

Question ID : 54335318256
Option 1 ID : 54335373283
Option 2 ID : 54335373280
Option 3 ID : 54335373282
Option 4 ID : 54335373281
Status : Not Attempted and Marked For Review
Chosen Option : --

% 1386 AH2 Suwer A U I @ card (@ F) Far §7

Ans X114
v 2 21
X3 245
X 4105

Q.7 Find the heat capacity of a pan of mass 200 g, if its
0

Ans

X< 150 Jkglk!
X2 125 kg Ik!

v 3 250 7K1
X 4. 5 ]K—l

Question ID : 54335318201
Option 11D : 54335373061
Option 2 ID : 54335373063
Option 3 ID : 54335373060
Option 4 ID : 54335373062
Status : Not Attempted and Marked For Review
Chosen Option : --

Y S o & e §3E T

Ans X1~ 3:"%
A2
v e "@H
X4 9q

Question ID : 54335318261
Option 11D : 54335373301
Option 2 ID : 54335373300
Option 3 ID : 54335373303
Option 4 ID : 54335373302
Status : Answered




l

Chosen Option : 4

2 to the following question.
12+-6-2+10%x5=7

Ans  of 137
<2 50
<316
X4 23

Q.7 Inacertain code language, '+ represents 'x', '+ represents '+', '=' represents +' and '*' represents '—". Find out the answer

Y o w O & g ik fFee & g F @ o
Ans X 1. 750
< 21200
'3 1050
#4900

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
01

54335318251
54335373262
54335373263
54335373260
54335373261

: 54335318243
: 54335373228
: 54335373231
Option 31D :
Option 41D :
Status :

Chosen Option :

54335373229
54335373230
Not Answered

047=:|‘Fc:3#12=10;5#9=7;6#10=8,

Ans X' 1. B
<210
X33
v g

Question ID

Option 2 ID

: 54335318252
Option 11D :

54335373266

: 54335373264
Option 31D :
Option 41D :

Status :

Chosen Option :

54335373267
54335373265
Answered

4

Ans «1. -“

X2 oS
<3 Frafea
X 4 Ee

Y arede wiaw Regar oA B aeg 37 § ged §




Question ID : 54335318178
Option 1 ID : 54335372971
Option 2 ID : 54335372969
Option 3 ID : 54335372970
Option 4 ID : 54335372968
Status : Not Attempted and Marked For Review
Chosen Option : --

067 A/An is software used to maintain the security of a private network.

Ans  of 1. firewall
X 2 malware
2< 3. encryption
& 4 clickbait

: 54335318189
54335373014

@7 Which team won the Indian Premier League (I

Ans X 1. Kolkata Knight Riders
« 2. Chennai Super Kings
< 3. Royal Challengers Ba
#< 4 Hyderabad Sunrisers

Question ID : 54335318176
Option 11D : 54335372961
Option 2 ID : 54335372962
Option 3 ID : 54335372960
Option 4 ID : 54335372963

Status : Answered
Chosen Option : 2

%7 Who invented the blue jeans?
Ans X 1. Gianni Versace

< 2. Calvin Klein

/< 3. Todd Oldham

' 4 Levi Strauss

Question ID : 54335318174
Option 1 ID : 54335372955
Option 2 ID : 54335372953
Option 3 ID : 54335372952
Option 4 ID : 54335372954
Status : Not Attempted and Marked For Review
Chosen Option : --

Q§7 If 36 T of work is done in moving a charge Q across 8 V, find Q (in coulombs).
Ans X116




<209
< 3. 288
Wi a5

Question ID : 54335318205
Option 1 ID : 54335373078
Option 2 ID : 54335373077
Option 3 ID : 54335373076
Option 4 ID : 54335373079
Status : Not Attempted and Marked For Review
Chosen Option : --

@8 Who was the chairman of the Constitution Drafting Committee?
Ans 1. Sardar Patel
/< 2. Dr. Rajendra Prasad

#< 3. Jawaharlal Nehru
+ % Dr. BR Ambedkar

d Marked For Review

%8 Binary 110110101 is equal t

Ans X 1. 333
X2 477
'3 437
X 4 349

Question ID : 54335318220
Option 11D : 54335373139
Option 2 ID : 54335373137
Option 31D : 54335373138
Option 41D : 54335373136
Status : Answered
Chosen Option : 3

@® Ifa—b=>5and ab =14, then find a2 + b2?
Ans 11. 53
X219
X3 27
K a5

Question ID : 54335318237
Option 11D : 54335373205
Option 2 ID : 54335373206
Option 3D : 54335373204
Option 4 ID : 54335373207
Status : Answered
Chosen Option : 1




Q.8 zfr 750 N F7 T o 30 kg ZeTANT $T UF M F1 16 m 55 SEfa Far &, & R mw F
3 (W ) wT i

Ans X 1. 48
X2 24
V12
X4 36

Question ID : 54335318186
Option 1 ID : 54335373002
Option 2 ID : 54335373000
Option 3 ID : 54335373001
Option 4 ID : 54335373003
Status : Not Attempted and Marked For Review
Chosen Option : --

98 Find the missing number in the given series.
1.3, 08,037, 0712
Ans ?( 1. 0.3
<204
X3 0.1
402

: 54335373250
: 54335373251
: 54335373249
Status : Answered
Chosen Option : 4

Qés I A% 9§ 2000 3R 2010 & frw 6 e &
Zor 31 F e ¥ fRaen afees &, TfE 2000 # &2

T off aflT 2010 &
He & Fr FaEeEar A 60 FE| TET AFHEA Hcd

=feaar Fr T&T F ®T F AT AT E

maﬂmﬁ'ﬂw‘
- B ¥ 8 EEE

»
o
-

Ans X 1. 25%
X 2 500%
v 3 400%
X 4 20%

Question ID : 54335318264
Option 1 ID : 54335373315
Option 2 ID : 54335373313
Option 3 ID : 54335373312
Option 4 ID : 54335373314
Status : Not Attempted and Marked For Review
Chosen Option : --




8 J

% FET o F Fo U TH IFR T 8

unacri Adeg lighthouse

bancri Ad«g lightweight

banetu #deT overweight

g ereg 1 TFAT 'overdrive' gEM?
Ans of 1 adietu

X 2 criteh

/< 3. adiban

& 4 simuna

Q.8 Find the specific heat capacity (in Jg']K'l) of a block of metal of mass 500 g, the
7 when it absorbs 10 kT of heat?

Ans X1~ 0.4
V2 025
&3 0.16
X 4 1.56

e : 54335318202
ion 11D : 54335373066
tion 2 ID : 54335373067

Option 3 ID : 54335373065
Option 4 ID : 54335373064

Status : Not Attempted and Marked For Review
Chosen Option : --

Q.8 A truck of mass 5000 kg accelerates from 25 m/s to 35 m/s. Find the change in its kinetic energy (in MJ).

8

Ans XTI
X225
V3 15
X4 2

Question ID : 54335318212
Option 1 ID : 54335373104
Option 2 ID : 54335373107
Option 3 ID : 54335373106
Option 4 ID : 54335373105
Status : Not Attempted and Marked For Review
Chosen Option : --

% (0.1220.0252) + (0.1 - 0.025) =
Ans X 1. 0.325
< 2 0.625
V'3 0125




X 4025

Question ID : 54335318223
Option 11D : 54335373151
Option 2 ID : 54335373150
Option 3 ID : 54335373149
Option 4 ID : 54335373148
Status : Answered
Chosen Option : 3

@° An object with greater has greater inertia.
Ans X 1. velocity

#< 2. acceleration
7< 3. volume

« 4 mass

%9 Which of the following folk dances i

Ans  of 1. Bagurumba
X 2 Giddha
X 3 Lezim
& 4 Nati

Question ID : 54335318179
Option 1 ID : 54335372973
Option 2 ID : 54335372974
Option 3 ID : 54335372975
Option 4 ID : 54335372972
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.9 Acceleration due to gravity on moon is 1/6th that on B_a;rﬂ:[..How much would an astronaut weigh on moon if he weighs

2 99 kef on earth? (acceleration due to gravity on earth = 10m/s?)
Ans x 1. ON

v 2 150N

X3 90N

X4 15N

Question ID : 54335318190
Option 1 ID : 54335373019
Option 2 ID : 54335373018
Option 3 ID : 54335373016
Option 4 ID : 54335373017
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.9 w BAfymg firw &= &, dorew (3= o & 18 i & wefe gorfee (W) e & 8 g §
3 urens (ZE) ¥ TeiE 16 T F AT, SIS (WieER) P T g ¥




Ans X1_ 9
<218
v 36
x4 8

Question ID : 54335318187
Option 11D : 54335373007
Option 2 ID : 54335373006
Option 3 ID : 54335373004
Option 4 ID : 54335373005
Status : Answered
Chosen Option : 3

Q.9 Ifhalfa litre of hot water at 90° C is mixed with three and a half litres of cold water at 10°C, find the final equilibrium

4 temperature (in °C) if no heat is lost.

Ans X1_ 30
V2 20
<3 50
< 4 40

Q.9 Two children, weighing 30 kg and 15 kg, sit on one si
5  the fulerum. A boy of "M kg sits on the other side of th
saw is in equilibrium. Find M.

Ans ?(1. 43
X2 48
X3 36
a0

Question ID : 54335318191
Option 1 ID : 54335373023
Option 2 ID : 54335373020
Option 3 ID : 54335373021
Option 4 ID : 54335373022
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.9 A postman starts from the post office and cycles 13 km south, then turns west and cycles 10 km, then turns north and
6 cycles 8 km, then turns east and cycles 2 km and then tumns to his left and cycles 5 km. Where is he now with reference
to his starting position?

Ans 1. 12 km east
< 2. 12 km west
#< 3. 8 km east

o 4 8 km west

Question ID : 54335318262
Option 1 ID : 54335373307
Option 2 ID : 54335373306
Option 3 ID : 54335373305
Option 4 ID : 54335373304




Status : Not Attempted and Marked For Review
Chosen Option : --

Ans

TerTelT ST T 2

FUF: HT ToA F WY-HY we & e w1 wlieaT g9 g @ g

oy |: Sleafoer & 3R 39T & a@ry, F 3 Roer 9 & gear § g Al

059 I FICd AT R e W T R U muT H ¥ i @ Ty ARma s

ey 1I: @It gaer 31f8w @ S T afasy & w8 of g e gEE & gEee 4 e

TR

voaarldradr i ewE e g
X 2 Faer fored | wy g #
Ko 1 3R gt amg g §

X o e forsewd || @ T §

Q.9
9

Ans

Q9 210 mm x 297 mm are the dimensions of

<1 A3
<2 Al
V3 A4
X4 A2

Question ID

Option 2 ID

S1Z€ paper.

: 54335318269
Option 11D :

54335373334

: 54335373332
Option 31D :
Option 4 ID:

Status :

Chosen Option :

54335373335
54335373333
Not Attempted and Marked For Review

L — T

Question ID :

Option 11D

Option 3 ID

Status

54335318181

: 54335372980
Option 21D :

54335372982

: 54335372983
Option 41D :

54335372981

: Not Attempted and Marked For Review
Chosen Option :

FIT T T TSI BHET F FHT FT FROT ST FhaTl 22
Ans x1 a ﬂ

X 2 gROaIRAe (gfearss)
<5 T

v 4 3F F FOT

Question ID :

Option 11D

Option 3 ID

Status

54335318188

: 54335373008
Option 21D :

54335373011

: 54335373010
Option 41D :

54335373009

: Not Attempted and Marked For Review
Chosen Option :




Q3 If 5%/2 - 1/4 (6x — 5/3) = 7/6, then the value of X is :

Ans X 1. 5/4
X257
X3 3/7
434

Question ID : 54335318236
Option 1 ID : 54335373201
Option 2 ID : 54335373203
Option 3 ID : 54335373202
Option 4 ID : 54335373200
Status : Not Attempted and Marked For Review
Chosen Option : --

Section : Electronics Mechanic

Q1 Cell phone communication is a
Ans > 1. Full Simplex
« 2 Full Duplex
7< 3. Simplex
7< 4 Half Duplex

°

: 54335318301
: 54335373460
: 54335373463
Option 3 ID : 54335373461
Option 4 ID : 54335373462

Status : Answered
Chosen Option : 2

Q2 WWhat type of radiation is emitted from
Ans X 1. Visible

< 2. Ultraviolet

v 3 Infrared

X 4. Radio Frequency

Question ID : 54335318306
Option 11D : 54335373481
Option 2 ID : 54335373480
Option 3 ID : 54335373483
Option 4 ID : 54335373482
Status : Answered
Chosen Option : 3

@3 What is the output of an LED driver?
Ans X 1. Chopped AC
2< 2. Pulsating DC

v 3 DC
X4 AC




Question ID : 54335318343
Option 11D : 54335373631
Option 2 ID : 54335373628
Option 3 ID : 54335373629
Option 4 ID : 54335373630
Status : Not Answered

Chosen Option : --

Ans 1. right side pin
« 2. body of the transistor
#7< 3. centre pin
7< 4 left side pin

Q4 The BU20S5 transistor collector is the

Q5 Gama is the ratio of
Ans  of 1. emitter current to base curren
< 2. collector current to emitt
#< 3. collector current to ba

#< 4. base current to collect

: 54335318293

o

Question ID : 54335318290
Option 11D : 54335373419
Option 2 ID : 54335373417
Option 31D : 54335373416
Option 4 ID : 54335373418
Status : Not Answered

Chosen Option : --

Q6 Windows 10isa/an

Ans X 1. type of computer

< 2. operating and booting system
7< 3. booting system

« 4 operating system

Question ID : 54335318285
Option 11D : 54335373399
Option 2 ID : 54335373398
Option 3 ID : 54335373397
Option 4 ID : 54335373396
Status : Answered
Chosen Option : 4

Q7 A Capacitor function
Ans 1. stops AC and passes DC




W 2 stops DC and passes AC
72< 3. passes both, DC and AC
< 4 stops both, AC and DC

Question ID :

Option 11D

54335318272

: 54335373344
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

54335373345
54335373347
54335373346
Not Answered

Q8 The Mail Merge function is present in:
Ans o 1. Microsoft Word

#< 3. Microsoft Excel
< 4 Microsoft PowerPoint

Q9 Hybrid parameter calculati
Ans  of 1. Two-port linear net
#< 2. Push pull

#< 3. Class A amp

#< 4 Darlington pair

#< 2. Microsoft Excel and Microsoft PowerPoint

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

54335318289
54335373415
54335373413
54335373414
54335373412
Not Answered

o1 Inthe
Ans 1. Cathode Ray Tube (CRT)
« 2 Digital Oscilloscope

/< 3. Analog Oscilloscope

X 4 VIVM

Storage Oscilloscope signals can be stored.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

54335318300
54335373458
54335373457
54335373456
54335373459
Not Answered




l Chosen Option : --

Qi1 In case of silicon transistor the cutoff region voltage of base emitter is

54335318312
54335373505
54335373507
54335373506
54335373504
Answered

12

0?-’1 Formula for Number of Magnetic poles
Ans X 1. (180XE/N

< 2. (60XE)N

< 3 (360XH/N

Vv 4 (120X)/N

Ans X 1. 0.5V
X203V
X304V
Vi >07V
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
T IC7805isa voltage regulator.
Ans X 1. 15V
X2 8V
K36V
a5y

tion 4 ID

: 54335373384
: 54335373386
: 54335373385
Status :
Chosen Option :

Not Answered

Question ID

Option 2 ID

Option 41D

: 54335318336
Option 11D :
: 54335373601
Option 31D :
: 54335373600

Status :
Chosen Option :

54335373602

54335373603

Not Answered

@' By combining two Class B amplifiers, we can build
Ans 1 Push-pull amplifier

#< 2. LC coupling

#7< 3. RC coupling

< 4. TC coupling

Question ID : 54335318298




@1 What is the forward voltage of LED?

Ans 1. 0.6 Vde
X 2 1.5 Vdeto 3 Vde
< 3.0.3 Vde
' 4 1.8 Vde to 3.3 Vdce

Option 1 ID : 54335373449
Option 2 ID : 54335373450
Option 3 ID : 54335373448
Option 4 ID : 54335373451
Status : Not Answered
Chosen Option : --
°é1 In the context of mobile communication what is the full form of LTE?
Ans o 1. Long Term Evolution
#< 2. Last Time Evolution
#< 3. Least Time Evolution
#< 4 Long Time Evolution
Question ID : 54335318302
- 54335373465

Option 11D

Option 31D

Status

Question ID :

54335318331

: 54335373580
Option 21D :

54335373582

: 54335373583
Option 41D :

54335373581

: Not Answered
Chosen Option :

o1 Sine Wave Peak to peak =

Ans 1. RMS / Square root of six
X 2 RMS X Square rgotﬁfthree
2< 3. RMS / Square root of five
« 4 RMS X Square root of two

Question ID :
Option 11D :
Option 21D :

Option 31D

54335318271
54335373343
54335373340

: 54335373342
Option 41D :
Status :

Chosen Option :

54335373341
Answered
4

@1 Which of the following panels has the best viewing angle?

Ans X1 LCD
X 2 LED




2 3 Plasma
4 CRT

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

: 54335318344
: 54335373633
: 54335373634
: 54335373635
: 54335373632
: Answered

2

Ans X1. A
v 2 1414 A
X3 3A
X4 1314A

062 A full wave rectifier consists oft

Ans X 1. one diode
X 2 three diodes
' 2 two diodes
&< 4 four diodes

%' Find Current, if Resistance = 50 ohms and Power = 100 Watts

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318281
54335373383
54335373381
54335373380
54335373382
Answered

3

@2 Why is an N-Channel MOSFET preferred over a P-Channel?
Ans of 1. Because it allows fast switching

< 2. Because it is TTL compatible

< 3. Because of its low input impedance

7< 4 Because of the low noise

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318323
54335373550
54335373548
54335373551
54335373549
Answered

3

Q2 In an induction motor, stator is the




2

Ans X 1. rotary part
o 2. part that is stationary
#< 3. part that controls the speed
#< 4 rotary and part that controls the speed

Option 11D
Option 3 ID

Status

Question ID :

54335318335

: 54335373598
Option 21D :

54335373597

: 54335373596
Option 41D :

54335373599

: Answered
Chosen Option :

1

Q?.’Z What can a CRO measure?
Ans 1. capacitance

< 2 resistance
#< 3 inductance

 + frequency

: 54335373378

54335373379
Status : Answered
sen Option: 4
@2 LCD TVs work on the principle
Ans x emission of cathode rays and
1. :
light
#< 2. emission of cathode rays
#< 3. light emission
« 2 light blockage
Question ID : 54335318332
Option 11D : 54335373587
Option 2 ID : 54335373585
Option 3 ID : 54335373584
Option 4 ID : 54335373586
Status : Answered
Chosen Option : 2

@2 What is the beta current ratio of a transistor?
Ans { 1. ICHB
X 2 Ip/fg
K3 Ig/lc
K4 Io/lg

[ Question ID : 54335318313




Option 11D

Option 31D

Status

: 54335373508
Option 21D :
: 54335373509
Option 41D :

54335373510

54335373511

: Not Answered
Chosen Option :

@2 How are SMD components in bulk mounted on PCB?
Ans % 1. Using hot air blower

< 2. Using soldering iron

« 3 Using wave soldering machine

#< 4. Using soldering pot

Q.2
5~ Secondary cells
Ans o 1. can be recharged and reused
#< 2. can be charged but cannot

#< 3. cannot be recharged
#< 4. cannot be charged and

: 54335318326
: 54335373560

54335373561

Option 11D

Option 31D

Question ID :

54335318274

: 54335373352
Option 21D :

54335373354

: 54335373355
Option 41D :
Status :

Chosen Option :

54335373353
Answered
1

Q2 IC 7812isa voltage regulator.
Ans X 1. 78 W

X2 8V

K321V

V12V

Question ID

Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 54335318340
Option 11D :

54335373618

: 54335373616

54335373619

: 54335373617

Not Answered

Qéz Impedance can be measured using which among the following instrument?

Ans  of 1. LCR Meter
X 2. CRO




# 3 DSO
#< 4 Function generator

: 54335318324
: 54335373555
: 54335373554
: 54335373552
: 54335373553
: Answered

4

%3 8-bit registers consist of

Ans X1~ 4
X212
X3 16
Vs

_ ==

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status
Chosen Option :
s transistor/s are required for single stage amplification.
Ans v 1.1
X22
X3 4
X 43

Question ID

Option 2 ID

: 54335318328
Option11D:

54335373569

: 54335373571
Option 31D :
Option 41D :

Status :

Chosen Option :

54335373568
54335373570
Answered

4

Ans X 1. Green
2. White
X 3. Red
< 4 Blue

°é3 Which of the following LED colours is NOT present in an LED TV panel?

Question ID :
Option 11D :
Option 21D :
Option 31D
Option 41D :
Status :

Chosen Option :

54335318325
54335373559
54335373556

: 54335373557

54335373558
Answered
2

Q.3
5 Saw tooth wave can be generated through the




Ans  of 1. Schmitt trigger
< 2. Hartley oscillator
#< 3. Colpitts oscillator
7< 4 Crystal oscillator

Question ID : 54335318299
Option 11D : 54335373455
Option 2 ID : 54335373452
Option 3 ID : 54335373453
Option 4 ID : 54335373454
Status : Answered
Chosen Option : 2

23 AND gate and EX-OR gate combination is
Ans X 1. Both Full and Half adder
< 2. Full adder
' 3 Half adder
#< 4 Flip flop

8338
3610
5373608
4335373609
: 54335373611
: Answered
1

05;3 Which of the following circuits is us

Ans  of 1. Clamper
< 2. Clipper

< 3. Amplifier 6

< 4 Rectifier

Question ID : 54335318322
Option 11D : 54335373546
Option 2 ID : 54335373544
Option 3 ID : 54335373545
Option 4 ID : 54335373547
Status : Not Answered

Chosen Option : --

063 An RLC series resonance boosts:

Ans  of 1. current
< 2 resistance
< 3. frequency

#< 4 inductance

Question ID : 54335318278
Option 11D : 54335373368
Option 2 ID : 54335373369
Option 31D : 54335373370
Option 4 ID : 54335373371




Status : Answered
Chosen Option : 4

Q.3 Which of the following display interfaces can carry both, analog signals and digital signals?
7

Ans X 1. VGA

X 2. HDMI

< 3. Optical

v 4+ DVI
Question ID :
Option 11D :
Option 21D :
Option 31D :

0.3 . . . . - . .
s Which transistor configuration amplifier’s current gain i
Ans X 1. Emitter Coupled

#< 2. Common Emitter
#< 3. Common Collector
4 4 Common Base

Option 41D :
: Answered
1

54335318305
54335373477
54335373476
54335373479
54335373478

: 54335318319
: 54335373534
: 54335373532

Option 3 ID : 54335373535
Option 4 ID : 54335373533
Status : Not Answered
Chosen Option : --
Q.3 o =
o technology isusedin TV r
Ans X' 1. LCD
+ 2 Infrared light
#< 3. Ultraviolet rays
x4 Ultraviolet rays and
LCD
Question ID : 54335318333
Option 11D : 54335373590
Option 2 ID : 54335373589
Option 3 ID : 54335373588
Option 4 ID : 54335373591
Status : Answered
Chosen Option : 2

@4 Which of the following is an Operational Amplifier?

Ans X 1. IC 8085
X 2 IC 7805
'3 1IC 741
X 4 IC 555




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318310
54335373498
54335373499
54335373497
54335373496
Not Answered

@4 RAM isa__

Ans X 1. type of software
X 2. CPU register
« 3. temporary memory device
#< 4 permanent memory device

@# Transistor in saturation region works as

Ans  of 1. Switch

< 2. Attenuator
#< 3. Oscillator
< 4 Amplifier

: 54335318286

Question ID

Option 21D

Option 41D

: 54335318315
Option 11D :

54335373517

: 54335373519
Option 31D :

54335373518

: 54335373516
Status :
Chosen Option :

Answered
4

%* An Inductive Reactance function:
Ans o 1. opposes alternating current
/< 2. opposes direct current

/< 3. allows alternating current

7< 4 allows alternating current and direct current

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 41D
Status :

Chosen Option :

: 54335318273

54335373349

: 54335373350

54335373348

: 54335373351

Answered
1

4
Ans X']_ short

Q.4 If a diode shows equal resistance but not zero in both directions then the diode must be




o 2 defective
< 3. working fine

7< 4. open

Question ID :
Option11D:

Option 2 ID

Option 31D :

Option 4 ID
Status

Chosen Option :

54335318341
54335373621
: 54335373622
54335373623
: 54335373620
: Answered

4

%4 A unijunction transistor (UJT) is used to
Ans X 1. boost the SCR
#< 2. amplify DC
#< 3. boost and trigger TRIAC
W 4 trigger the SCR

°g,4 For which of the following

Ans o 1. Pulse shaping

#< 2. Blocking

2< 3. Amplification

#< 4. Filtering
Question ID : 54335318321
Option 11D : 54335373542
Option 2 ID : 54335373543
Option 3 ID : 54335373541
Option 4 ID : 54335373540

Status : Answered
Chosen Option : 3
Q.4 Which of the following computer hardware is used to display instant feedback of our actions?
7
Ans 1. Keyboard

< 2. Mouse

v 3. Monitor

/< 4 Printer
Question ID : 54335318309
Option 11D : 54335373492
Option 2 ID : 54335373493
Option 3 ID : 54335373495
Option 4 ID : 54335373494

Status : Answered




l Chosen Option

03

Q.4 ; : -
s A Hartley oscillator is commonly used in .

Ans o 1. Radio Receivers
< 2. Radio Transmitters
< 3. TV Receivers
4 TV Transmitters

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

54335318318
54335373530
54335373531
54335373529
54335373528
Not Answered

%* Which of the following is a concept in mobile communi
Ans 1. Triplexing
+ 2 Duplexing
X 3. Simplexing
2 4. Quadraplexing

: 54335318330
: 54335373578

tion 2 ID : 54335373576
ption 3 ID : 54335373577
Option 4 ID : 54335373579
Status : Answered
Chosen Option: 2
@5 Solar cells work on the principle of
Ans Isolation and Opto
1.
coupling
< 2. Isolation
« 3 Photovoltaic
< 4 Opto coupling
Question ID : 54335318329
Option 11D : 54335373575
Option 2 ID : 54335373574
Option 3 ID : 54335373573
Option 4 ID : 54335373572
Status : Marked For Review
Chosen Option : 3

Q1-5 In design of optical fiber transmission link LED’s and LASER’s are used as

Ans X 1. Detectors
' 2 Sources
< 3. Repeaters

7< 4 Amplifiers




°é5 Which material is used to prepare optical fiber as 2
Ans  of 1. Glass & plastic
X 2. Copper

# 3 Silver

7< 4 Aluminum

54335373389

Question ID : 54335318277
Option 11D : 54335373364
Option 2 ID : 54335373366
Option 3 ID : 54335373367
Option 4 ID : 54335373365
Status : Answered
Chosen Option : 1
25 For Clamp circuit one must
Ans 1. add DC signal with DC
« 2. add AC signal with DC
< 3. add AC signal with AC
X 4. subtract AC from DC
- 54335318283

‘O

Question ID :
Option 11D
Option 21D :
Option 31D
Option 41D :
Status

Chosen Option :

54335318279

: 54335373372

54335373373

: 54335373375

54335373374

: Answered

1

Qf In Microsoft Excel we cannot calculate
Ans 1 differentiation problems

# 2. division problems

/< 3. arithmetic problems

/< 4. multiplication problems

Question ID :
Option 11D
Option 21D :
Option 3 ID
Option 41D :
Status

Chosen Option :

54335318288

: 54335373409

54335373410

: 54335373408

54335373411

: Answered

1

Q.5 If a regulator IC provides a voltage higher than input, then the converter is known as
5

Ans  of 1. Boost




< 2 Buck
< 3. Buffer
< 4 Buck-Boost

Question ID : 54335318342
Option 11D : 54335373626
Option 2 ID : 54335373625
Option 3 ID : 54335373627
Option 4 ID : 54335373624
Status : Not Answered

Chosen Option : --

Qés Transformer Eddy current losses are created due to
Ans X 1. secondary winding
# 2. copper
« 3 core
/< 4 primary winding

3361

362

373363
arked For Review

03

0%5 What happens to the Base emitter vol

Ans - X 1. Becomes 0

' 2 Decreases

#< 3. Remains the same
& 4 Increases

Question ID : 54335318316
Option 11D : 54335373522
Option 2 ID : 54335373523
Option 3 ID : 54335373520
Option 4 ID : 54335373521
Status : Not Answered

Chosen Option : --

°é5 Reverse biasing of a Zener diode
Ans o 1. conducts electricity

/< 2. does not conduct electricity
/< 3. amplifies electricity

< 4 oscillates

Question ID : 54335318339
Option 11D : 54335373612
Option 2 ID : 54335373613
Option 3D : 54335373614
Option 4 ID : 54335373615
Status : Marked For Review
Chosen Option : 3




Ans  of 1. White
& 2 Black
< 3 Red
& 4 Green

45 What colour LED lamp is commonly used for domestic use?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318303
54335373470
54335373469
54335373468
54335373471
Answered

1

Ans 1. Voltage Gain
« 2. Operating Point
< 3. Power Gain
# 4 Current Gain

%6 In two stages. Transistor TC coup
Ans X 1. creates isolation between the
#< 2. blocks the AC between the two s
o 3. creates direct coupling between thy
X 4. stops the AC and passes the DC

066 The point of intersection of DC and AC load line is known as

2%0

stages

: 54335373515
: 54335373514
: 54335373512
: Not Answered
osen Option :

Question ID :
: 54335373437
Option 21D :

Option 11D

Option 3 ID

Status

54335318295

54335373438

: 54335373436
Option 41D :

54335373439

: Not Answered
Chosen Option :

Q; With Class C amplifier, gainis
Ans X1 low

< 2. equal

« 3 high

& 4 moderate

compared to Class A amplifier.

Question ID : 54335318297
Option 11D : 54335373444
Option 2 ID : 54335373447




Option 31D :
Option 41D :
Status :

Chosen Option :

54335373445
54335373446
Not Answered

Q.6 10 cells are connected in parallel with the internal resistance of 1Q and 1.5Volts. The total voltage and total resistance is
3

Ans 1. 10V and 1.5Q
2 1.5V and 0.1
#3100V and 15 Q
X 4 1.8V and 1.5Q

Question ID :
Option 11D :
Option 21D :
: 54335373359
: 54335373356

54335318275
54335373358
54335373357

046 Which of the following software is used for programmin

Ans X 1. Microsoft Word
& 2. Microsoft Paint
& 3. Microsoft Excel
o 4 Keil

Option 31D

: 54335318308
: 54335373490
Option 21D :
: 54335373491
Option 41D :
Status :

Chosen Option :

54335373489

54335373488
Answered
4

%¢ An amplifier with a positive feedback cit
Ans 1. bandwidth to stabilize

#< 2. gain of an amplifier to stabilize

& 3. bandwidth to decrease

v 4. bandwidth to increase

Option 11D

Option 31D

Question ID :
: 54335373442
Option 21D :
: 54335373440
Option 41D :
Status :

Chosen Option :

54335318296

54335373443

54335373441
Not Answered

066 If a regulator IC provides a voltage lower than input then the converter is known as

Ans X 1. Boost
& 2 Buffer
< 3. Buck-Boost
' 4 Buck




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318307
54335373486
54335373487
54335373484
54335373485
Not Answered

Qf What is the use of an LED driver?

Ans 1. Tt converts DC to AC
« 2 Tt converts AC to DC
& 3 It converts AC to AC
& 4 It converts DC to DC

n, 1D

: 54335318304
: 54335373475

@° In a PNP Transistor voltage divider biasing

Ans X 1. one
' 2 four
X 3 three
X 4 two

3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318291
54335373423
54335373422
54335373421
54335373420
Answered

2

066 On the load line (with AC input in CE) which one of the following is NOT possible?
Ans X 1. Cut off point

« 2 Oscillation

/< 3. Saturation point

75 4 Q/ Operating point

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318292
54335373424
54335373427
54335373425
54335373426
Answered

3

067 The heat sink of the BU2035 transistor can be connected
Ans 1. directly




« 2 through a mica sheet
< 3. directly and through the cap
< 4. through the cap

Question ID : 54335318294
Option 11D : 54335373432
Option 2 ID : 54335373434
Option 3 ID : 54335373435
Option 4 ID : 54335373433
Status : Answered
Chosen Option : 4

@7 Which of the following is a feature of a Darlington pair amplifier?
Ans X 1. Voltage gain is nil

« 2 High input impedance and low voltage gain
#< 3. Low input impedance and low voltage gain
#< 4 High input impedance and high voltage gain

4335373536
. Answered
jon:3

%7 On which of the following fre

Ans X 1. 2.4 MHz
X 2. 5 MHz
X 3 10 GHz

W 4 5GHz
Question ID : 54335318311

Option 1 ID : 54335373500
Option 2 ID : 54335373501
Option 3 ID : 54335373503
Option 4 ID : 54335373502
Status : Answered
Chosen Option : 3

%7 A unijunction transistor (UJT) is used to generatea _ wave
Ans 1. square

< 2 sine

v 2 sawtooth

#< 4 triangle

Question ID : 54335318337
Option 11D : 54335373605
Option 2 ID : 54335373604
Option 3 ID : 54335373607
Option 4 1D : 54335373606
Status : Answered
Chosen Option : 1




@7 AFlipFlopisa oscillator.
Ans X 1. four stable

« 2 bi-stable

#< 3. mono stable

< 4 three stable

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335318327
54335373567
54335373565
54335373564
54335373566
Not Answered

°é7 What is the full form of MCB?

Ans X 1. Miniature Circuit Broker
X 2 Maximum Circuit Breaker
« 2 Miniature Circuit Breaker
# 4 Minimum Circuit Breaker

tion 4 ID

: 54335373593
: 54335373592
: 54335373594
Status :
Chosen Option :

Answered
4
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